Assignment 4, due Friday, 29th October
Theoretical:
1. Derive the 3-step Adams-Bashforth method:
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2. Determine the order of the three-step method,
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Wpt3 = Wpi2 + h [—f(tn+2,wn+2) - gf(tn—i-l;wn—i-l) + ﬁf(tn;'wn)] .
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Wny3 —wWp =h [gf(tn+37wn+3) + gf(tn+27wn+2) + gf(tn+lawn+l) + gf(tn;wn)] ’

the three-eighths scheme. Is it convergent?
3. Prove that the backward differentiation formula (BDF) for s = 3,
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Wn43 — ﬁwn—i-? + ﬁwn—i-l - ﬁwn = ﬁ

f(tn+3a wn+3)a
is convergent.

4. Find the explicit form of the BDF for s = 4.

Computational:

No computation this week!



